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2 LaH=E 2 203% = 32 -HERAL(58) 65 45 70 4
2 LaH=E 2 203% = 32 ERAL(65) 65 45 77 2
2 LaH=E 2 203% = 32 EFHL(69) 65 45 77 2
2 LaH=E 2 203% = 32 R A 30 30 100 1
2 LaHk=E 2 203% = 32 R 40 30 50 1
2 LaH=E 2 203% = 32 AoiR—I)L (BR&SE) 50 35 28 5
2 LaH=E 2 203 = 32 FLE.TVE 120 75 180 1
2 LaH=E 2 203H=E 32 N\yay 10 35 35 1
2 LaH=E 2 203H=E 32 NITAH)—F— 20 10 30 1
2 LaH=E 2 203% = 32 T B— 30 40 30 1
2 Lai=E 2 203% = 32 RERLF 80 27 44 1
2 LaH=E 2 203% = 32 HER 34 28 72 1
2 LaHE 2 204% = 33 BRIL—¥— 30 30 10 1
2 LaH=E 2 2045 = 33 CDZL—¥—(SONY) 35 11 21 1
2 LaH=E 2 204 E 33 iR 43 21 43 1
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2 Lai=E 2 204 = 33 EIRE L 88 57 69 2
2 LaH=E 2 204 = 33 EMIREH 30 15 10 1
2 LaH=E 2 204 = 33 EX e 60 60 80 1
2 Lai=E 2 204% = 33 S ERABF GE) 40 50 75 4
2 LaH=E 2 204% = 33 S ERAN(E) 65 45 70 4
2 LaH=E 2 204 = 33 S HERAYL(65) 65 45 77 2
2 LaH=E 2 204 = 33 S HERYL(65) 65 45 77 2
2 LaiE 2 204 = 33 R 30 30 100 1
2 LaiE 2 204 = 33 RbRE 40 30 50 1
2 LaiE 2 204 = 33 Aoih—I)L (BR&SE) 50 35 28 5
2 Lai=E 2 204 = 33 JFLE.TVE 120 75 180 1
2 LaH=E 2 2045 = 33 N\yay 10 35 35 1
2 LaH=E 2 2045 = 33 NITAP)—F— 20 10 30 1
2 LaH=E 2 204 = 33 T B— 40 40 30 1
2 LaH=E 2 204% = 33 RERLF 80 27 44 1
2 Lai=E 2 204 = 33 HER 34 28 72 1
2 Lai=E 2 2105 = 39 BRIL—¥— 30 30 10 1
2 Lai=E 2 2105 = 39 CDZL—¥—(SONY) 35 11 21 1
2 LaH=E 2 2105 = 39 hoiEEs 43 21 43 1
2 LaH=E 2 2105 = 39 EIRE L 88 57 69 2
2 LaH=E 2 2105 = 39 EWIREH 30 15 10 1
2 LaH=E 2 2105 = 39 EX e 60 60 80 1
2 LaHE 2 2105 = 39 S ERABF GE) 40 50 75 4
2 LaH=E 2 2105 = 39 S ERAN(5E) 65 45 70 4
2 Lai=E 2 2105 = 39 S HERAYL(65) 65 45 77 2
2 LaH=E 2 2105 = 39 S HERHL(65) 65 45 77 2
2 LaH=E 2 2105 = 39 R 30 30 100 1
2 LaH=E 2 2105 = 39 EkRE 40 30 50 1
2 LaH=E 2 2105 = 39 Aoih—I)L (BR&SE) 50 35 28 5
2 LaH=E 2 2105 = 39 JFLE.TVE 120 75 180 1
2 LaH=E 2 2105 = 39 N\yay 10 35 35 1
2 LaH=E 2 2105 = 39 NITAH)—F— 20 10 30 1
2 LaH=E 2 2105 = 39 T B— 40 40 50 1
2 LaH=E 2 2105 = 39 RERLF 80 27 44 1
2 LaH=E 2 2105 = 39 RER 34 28 72 1
2 LaH=E 2 IRECES 40 BRIL—¥— 30 30 10 1
2 LaH=E 2 IRECES 40 CDZL—¥—(SONY) 35 11 21 1
2 LaH=E 2 IRECES 40 iR 43 21 43 1
2 LaH=E 2 RECES 40 EIRE L 88 57 69 2
2 LaH=E 2 RECES 40 327K (Victor) 44 30 235 1
2 EEHE 2 211 5= 40 Eisss 30 15 10 1
2 EEHE 2 INE- €3 40 EBET 60 60 80 1
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2 TEHE 2 IRECES 40 S ERABF GE) 40 50 75 4
2 TEHE 2 IRECES 40 S ERAN(5E) 65 45 70 4
2 TEHE 2 211 =E 40 S HERYL(65) 65 45 77 2
2 TEHE 2 IRECES 40 S HERYL(65) 65 45 77 2
2 TEHE 2 IRECES 40 R 30 30 100 1
2 TEHE 2 IRECES 40 RbRE 40 30 50 1
2 TEHE 2 IRECES 40 Aoih—)L (BR&SE) 50 35 28 5
2 TEHE 2 211 =E 40 JFLE.TVE 120 75 180 1
2 TEHE 2 IRECES 40 N\yay 15 40 40 1
2 TEHE 2 IRECES 40 T B— 40 40 30 1
2 LaH=E 2 BEEEES 40 Nk 93.5 210 33 1
2 LaH=E 2 ARE.ES 40 RERVF 80 27 44 1
2 TEHE 2 IRECES 40 AEE 47 46 110 1
2 TEHE 2 IRECES 40 SRR 34 28 72 1
2 TEHE 2 2F7k—)L (EVED) 46 JFLE.TVE 120 75 180 2
2 LTEHE 3 EM=E 60 ZHEEEE N-108! 1
2 TEHE 3 EMTE 60 B F 6
2 TEHE 3 EMTE 60 B F 2
2 LaH=E 3 EMTE 60 SBIntYT-70 2
2 LTEHE 3 TLAIL—L () | 52 EBRBFRAL 12
2 TEHE 2 201 =E 30 A= 1
2 TEHE 1 SUFIL—L 16 RET—7I) 5
2 TEHE 2 201 = 30 He 2
2 LTEHE 1 BEEE ) 4 AR 1
2 TEHE 1 REZEE 22 £l 2
2 EEH=E 2 PINEZES 30 = 4
2 LaHE 2 2013 = 30 BHEFAN 1
2 TEHE 2 201 =E 30 RIS R—F 3
2 LTEHE 1 BEEE ) 4 <vhL R 1
2 TEHE 3 TLAI—L () | 52 RET—7I) 4
2 TEHE 2 201 = 30 RIS kR—F 5
2 RIEE 1 REE () 4 UPS 20 52 45 1
2 RE= 1 BRE= ) 4 KET—R 40 72 33 3
2 RIEE 1 REE () 4 BEIHL 120 60 70 1
2 RIEE 1 REE () 4 i 73 51 180 1
2 REg= 1 REE ) 4 BEANYE 60 180 50 1
2 RE= 1 BRE= ) 4 A 4 60 30 160 1
2 RE= 1 BRE= ) 4 EHEHERE 60 45 80 1
2 RIEE 1 REE ) 4 £E 90 40 100 1
2 RE= 1 REg= ) 4 BER&t 36 45 230 2
2 RIEE 1 REE ) 4 FEBRAN 33 33 72 1
2 RIEE 1 REE ) 4 AREE 76 51 85 1
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2 RIEE 1 REE ) 4 AREE 35 47 84 2
2 RIEE 1 REE ) 4 RN 52 36 64 1
2 RE= 1 RE=h) 4 AERABAE 33 48 43 1
2 RIEE 1 REE ) 4 2LV\=T 90 40 165 2
2 RIEE 1 REE ) 4 BFLUD 45 36 26 1
2 RE= 1 RIEE(th) 4 REEEYRAN 40 56 33 2
2 RE= 1 RE=h) 4 Nyk 90 205 100 1
2 RIEE 1 REE ) 4 HLVvg 33 33 45 1
2 RIEE 1 REE ) 4 YL 75 20 88 1
2 RIEE 1 REEh) 4 ERERM 90 51 115 4
2 RIEE 1 REE ) 4 >4k 55 55 110 2
2 RIEE 1 REEh) 4 MR 48 56 121 1
2 RIEE 1 REE ) 4 Oyh— 32 51 180 1
2 HEE 3 B = 62 UR S 90 45 190 4
2 R = 3 R = 62 AN 32 35 40 2
2 HEE 3 B = 62 WER E R BA R 32 35 40 2
2 HE=E 3 HE=E 62 FoR—)L (EERERE) 50 35 28 15
2 HEE 3 B = 62 FLE.TVA 120 75 180 1
2 HE= 3 B = 62 =P 10 35 35 1
2 HEE 3 B = 62 BT 30 30 50 10
2 HBREE 3 ELE 63 AR—IL (ER) 50 35 28 7
2 BT 1 RE= ) 4 f=E] 30 30 120 1
2 BT 1 2F7—JL (EVEID 46 2z (2) 70 10 85 1
2 BT 1 2F7k—)L (EVED) 46 g (ZZESR) 160 10 85 1
2 BT 3 HE=E 58 FREESEE 90 80 120 1
3 1A 2 2023 = 31 Fujitsu PC (PC15) 9 34 33 1
3 1A 2 2025 = 31 pioneer DVDTL—¥— 36 20 4 1
3 1A 2 2025 = 31 HEBF 55 40 50 75 4
3 1A 2 2028 = 31 RbRE 40 30 50 1
3 1A 2 2025 = 31 FLE.TVA 120 75 180 1
3 1A 2 2025 = 31 HEFAN (REX) 70 50 1
3 1A 2 202% 3 31 3% 27 27 50 1
3 1A 2 2025 = 31 I35 30 22 42 1
3 1A 2 202% 3 31 RET—7I) 88 57 1
3 1A 2 2025 = 31 HEH 58 65 45 70 4
3 1C 2 2065 = 35 HEBF5E 40 50 75 3
3 1C 2 2FF—JL(EVED | 46 FLE.TVA 120 75 180 1
3 1C 3 PCZ 57 Fujitsu PC (PC14) 9 34 33 1
3 1C 3 PCZE 57 Panasonic BDZ7L—¥— 24.5 18 4 1
3 1C 2 207 E 36 J35 27 27 50 1
3 1C 2 2015 =E 30 £ 55 65 45 70 1
3 1C 2 207H=E 36 £ 55 65 45 70 3
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3 2A 2 201%=E 30 Fujitsu PC (PC12) 9 34 33 1
3 2A 2 201 =E 30 pioneer DVDTL—¥— 36 20 4 1
3 2A 2 2015 =E 30 HEBF 55 40 50 75 4
3 2A 2 2015 =E 30 HEBF 65 40 50 80 1
3 2A 2 2015 = 30 RbRE 40 30 50 1
3 2A 2 201%=E 30 JTLE.TVE 120 75 180 1
3 2A 2 2015 =E 30 BEEFRNERER) 80 70 1
3 2A 2 201 =E 30 BEEFRNERER) 70 50 1
3 2A 2 201%=E 30 =R 27 27 50 1
3 2A 2 201 =E 30 HEH 58 65 45 70 4
3 2C 2 2025 = 31 HEBF5E 40 50 75 2
3 2C 2 208% = 37 Fujitsu PC (PC13) 9 34 33 1
3 2C 2 208% = 37 pioneer DVDTL—¥— 36 20 4 1
3 2C 2 208 = 37 E®FEBF 3 40 50 62 1
3 2C 2 208F = 37 E®FBF 55 40 50 75 1
3 2C 2 208F = 37 S H#EBEFEH2E) 65 40 50 80 1
3 2C 2 208 = 37 RbRE 40 30 50 1
3 2C 2 208% = 37 FLE.TVE 120 75 180 1
3 2C 2 208% 3 37 dJ3% 27 27 50 1
3 2C 2 208%E 37 &4 35 65 45 60 1
3 2C 2 20653 35 &4 55 65 45 70 1
3 2C 2 208%E 37 &4 55 65 45 70 2
3 3A 2 2063 = 35 Fujitsu PC (PC17) 9 34 33 1
3 3A 2 2065 = 35 pioneer DVDTL—¥— 36 20 4 1
3 3A 2 2065 = 35 Ty—7 ;g8 40 15 40 1
3 3A 2 2065 = 35 HEBF 55 40 50 75 3
3 3A 2 2065 = 35 RbRE 40 30 50 1
3 3A 2 20653 35 TLE.TVE 120 75 180 1
3 3A 2 2065 = 35 BHEFHAN (REX) 70 50 2
3 3A 2 2063 = 35 I35 27 27 50 1
3 3A 2 2065 = 35 HEH 58 65 45 70 3
3 3C 2 209% = 38 Fujitsu PC (PC18) 9 34 33 1
3 3C 2 209 = 38 pioneer DVDTL—¥— 36 20 4 1
3 3C 2 209 = 38 HEBF5E 40 50 75 3
3 3C 2 209% = 38 RbRE 40 30 50 1
3 3C 2 209% 3 38 JTLE.TVE 120 75 180 1
3 3C 2 2093 38 dJ35 27 27 50 1
3 3C 2 2065 = 35 £ 55 65 45 70 2
3 3C 2 209% = 38 HEH 58 65 45 70 3
3 PCE 1 BERRE 18 JvhTTILT 120 50 95 1
3 PCZ=E 2 2F+—JL (EVEHI) 46 FLE.TVE 120 75 180 1
3 PCZ=E 3 PCZ=E 57 A4RX v S 30 50 15 1
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3 PCZ=E 3 PCZ 57 Mac 60 45 50 1
3 PCE=E 3 PCE=E 57 XX/ A0 T I A— 55 30 15 1
3 PCZE 3 PCZE 57 HBEREAPC 50 40 40 11
3 PCE=E 3 PCE 57 Unshil (2E2351) 120 42 90 1
3 PCE 3 PCE 57 TAY 180 75 70 2
3 PCZE 3 PCZE 57 ODLEDEAR 60 60 80 3
3 PCE=E 3 ETE 60 A3RF T 60 50 30 1
3 o ER 2 PINEZES 30 HEBF 55 40 50 75 1
3 FEE1 2 207%E 36 Fujitsu PC (PC16) 9 34 33 1
3 FEE1 2 207EE 36 pioneer DVDTL—¥— 36 20 4 1
3 FEET 2 207H=E 36 HEBF5E 40 50 75 3
3 FEE1 2 2075 E 36 S ERABF (o) 40 50 75 1
3 FEE1 2 207%E 36 JFLE.TVE 120 75 180 1
3 FEE1 2 207%E 36 E7/ 141 47 81 1
3 FEE1 2 207HE 36 E7 /BT 50 33 47 1
3 FEE1 2 HME2A 43 = 87 22 8 5
3 FEET 2 201%=E 30 dJ35 27 27 50 1
3 FEE1 2 201 =E 30 HEH 58 65 45 70 1
3 FEE2 2 2065 = 35 dJ35 27 27 50 1
3 FEE2 2 2025 = 31 HEH 58 65 45 70 2
3 FEE2 3 PCE 57 Fujitsu PC (PC21) 9 34 33 1
3 FEE2 3 PCE 57 Panasonic BDZ7L—¥— 245 18 4 1
3 FEE2 3 PC= 57 SONY 8SETATYF 25 20 10 1
3 FEE2 3 PCE 57 SONY DVDLO—% — 25 20 10 1
3 FEE2 3 PCE 57 JFLE.TVE 120 75 180 1
3 BME 2 B E2A 43 FEER HH 50 35 28 3
3 BEHME 2 HHE2A 43 BEE-REBHM 50 35 28 3
3 BEHME 2 HHE2A 43 EEEZEEEM 50 35 28 3
3 BM=E 2 HAE2A 43 EiER ZH# 50 35 28 3
3 BME 2 I E2A 43 HER 4 50 35 28 3
3 BME 2 HHE2A 43 BEE HM 50 35 28 3
3 BM=E 2 HME2A 43 W E (F—T) 88 40 88 1
3 BM=E 2 HME2A 43 W F —7T) 88 40 88 1
3 BM=E 2 HME2A 43 WG H—7F) 88 40 88 1
3 BM=E 2 HME2A 43 i H (BIHE2F) 88 38 88 1
3 BME 2 HME2A 43 A (BEEE)A 91 38 179 1
3 BM=E 2 HME2A 43 H(EAE)B 91 38 179 1
3 BME 2 HME2A 43 (A=) C 91 38 179 1
3 BME 2 HME2A 43 M (EFE)D 88 52 179 1
3 BM=E 2 B E2A 43 WK (F—T>) 88 39 435 1
3 BM=E 2 HME2A 43 WIL(FE) 88 40 88 1
3 BM=E 2 HME2A 43 MBI - BE) 88 40 88 1
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3 BM=E 2 HME2A 43 AN 88 40 88 1
3 BM=E 2 HME2A 43 il 88 40 88 1
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